UP Board Solutions for Class 6 Maths Chapter 3 W
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fwifd &1 A 1 Difoe-

@) 21+18+3

T 21+ 18+3=21+18x 4 =21+6=27

i) 123 -81+9

B : 123-81:9=123-81x & =123-9=114

i) 13— (8 x2)+3

B 13 - (8 x2) +3=13-16+3=16-16=0

Gv) 12 -(13 - 12 + 3)

W12 -(13-12+3)=12-(13-12x 4)=12-(13-4)=12-9=3

) 28-5x7+7

BT:28 — S x T+ 7=28-35+7=35-35=0

(vi) 117 + (7 + 6)

B 117+ (7+6)=117+13=9

(vii) (~17) + 8 = (7 = 3)

(-1 +8+(7T-3N=0-17)+8+4=-17+2=~15

(viii) (-3) + (-6) + (-3) |

E'Ef~(-3)+{-ﬁ)—{*3) (-3)+(6)x 3y =-3+2=~1

() 17 + (<2) x (-5) -

ﬁ:1?+(-z)><(*5)—4=1?+10—4=23

(x) 13+ 4-3

13 ﬁ=13+1=13

(xi) (=36) x (-1) + (-24) +

B - (—36}ﬁ<(1}+(*24}—6 {35)><[1)+{—24}><—
= (236) x (=1) + (-4) =36 —4 =32

(xii) (-5) — (45) = (=15) + (<3) x 5

TR=(=5) = (45) + (-15) + (-3) x 5=(-5) +45x (—fz5 +(-3) x5
=(-5)-3+(-15)=-5-3—15=-23 T
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20+ {9 -5+ (6-4)}

P20+ (9 -5+ (6-4)

=20+ {9-5+2!
=20+ {11-5)=20+6=26
80 x [56 — {7 x 8 + (13 - 2 x 5)}]

: 80 x [56 — {7 x 8 + (13 = 2 x 5)}]

=80 x [56 — {7 x 8 + (13 — 10)}]
=80 x [56— {56+ 3}]=80 x [56 —59] =80 x (=3) =—240
121 = [16 — {14 — 3 (9 - 6))]

: 121 = [16 - {14 — 3 (9 — 6)]

=121 + [16 - {14 — 3 x3}]
=121 + [16 - {14 — 9}]
=121 + [16 - 5]=121+11=11



(=)
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5118+ {3+6(5-3)
D518 + {3+ 6 (5 - Y]

=518 + {3 + 6x2}]

=SMiR+ {2+ 12}11=5[18+15]=5x33 =165
(12-5) x[6+{3+8-2}]
: (12 - 5) x[6 + {3 +8-21]

=(12 - 5) x[6 + {3 + 6}]

=T x[6+{3+6Y]=Tx[6+ 9] =Tx15=105
16 + 11 + (16 — 3) x 4}
D16+ {1+ (16 — 3) x 4}

=16+ 1+ 13x4}=16+[1+52]=16+53=69

F-[3-{3-3-3-3)}]

2 -3 - {3-(3 -3-3)]
=3-I3-03-3-0)]=3-[3-{3-3}]1=3-[3-0]=3-3=0
M2 - 121+ (11 x 1) —(-4) - {3 -8-1}]

D2 121 = (1l x 1D - () - 3 —8=-11]
=112 = [121 + (11 x 11) - (-4) — {3 - 7}]
=112 - [121 + 121 = (4) - {3 - T}]
=112 — [121 = 121 — () — {—4}]
=112 -[1+4+4]=112-9=103

(-2} {(-5) + (-25)} x (-7) — (4 - 6) (-5)
P(=2) {(=5) + (25} x (=T) - (4 - 6) (-5)
= (=2} {(=53) + (-25)} x (-7) - (-2)(-5)
=(=2) (-30) x (-7) =10 = (=2) % (210) - 10
=_420- 10 =—430
15— (3) {4 -6-2} + 3 {5+ (-3) x (-6)}
115 — (=3) {4 —6-2} + 3 {5 + (-3) x (-6)}
=15 — (-3) {4 — 4} +.3 {5 + (=3) x (-6)}
=15 - (-3) {0} = 3 {5 + 18}
=15-[-3{01+3(23)]=15+0=15
4 F 2518+ {7 - 2@ 3 — (13— 4-3)+5}]
14 F 2518+ {7 = 2 F| 3 —(13-4-3)~-5}]
4% [25-18+{7 — 2 3 -(13-1)+ 5}]
4% [25-18+ {7 - 2x3 —12+5}]
=4x [25-18+{7 - 6 —T}]
=4 % [25-18 + — 6]
=4x [25+ 3]=4x 28 = 112 .





